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SUBJECT fawa: MATHEMATICS vrferq MAXIMUM MARKS stfaraa# si#: 80
CLASS 4T VII DURATION srafer: 3 Hours
GENERAL INSTRUCTIONS:
1. This question paper consists of 62 questions divided into 4 sections A, B, C and D namely. All
the questions are compulsory.
2. Section A comprises 40 Competency Based Questions (CBQs) based on case studies, each
carry 1 mark.
Section B comprises 8 Assertion Reasoning Type Questions. Each question carries 1 mark.
Section C comprises 12 Short Answer Type Questions. Each question carries 2 marks.
Section D comprises 2 Long Answer Type Question. Each question carries 4 marks.
Check total number of pages in the question paper.
Use of calculators, mobile phone is not permitted.
. There is no overall choice provided in the question paper.
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SECTION - A

Questions 1 to 40 carry 1 mark each.
(Case Study questions)

T 1 ¥ 40 T TAF | 1 3F
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CASE STUDY 1

Bangalore is in the Southern part of India, in the state of Karnataka. There is not any direct flight
from Bangalore to Lahaul Spiti. You can reach up to Chandigarh from Bangalore by flight. From
Chandigarh there is only road ways to visit Lahaul Spiti. The number line shows below is the
temperature in degree Celsius (°C) at different places on a particular day. Observe this number
line and answer the following question based on your observation.

SATATT T o (AU AT H, Fedlash 1o § gl STAR | Arere i * o g Hieft 32 a8t
gl AT FATZE | A% § FENE Tgd 9 gl 9SIg | AT eid S & forT Fae g% ARt
I <1 T "t Y R Ao fim o fAtee et v @3 afeers (=3 afea) |
ATTHT fRETdT 81 T8 66T T@T &l €419 & <@ Sl 379+ Jeq07 o A4 9% Moot w1 &1 39
3

Page -1



R
s

s
P

doh bkl ; Shimla
Luhulsmllv) -\H”il‘_-'uw) 5 ()”1.\") ("B“”S"‘l”“

v

&
- 5.8 & B 8 &8 & ¥ 0B § 0 0000 8 0 B8 8 8 8 60y F -8 8 N

10 5 () 5 10 15 20) 25

1. What is the temperature difference between the hottest and the coldest places among the
above?

YL H | & TH 3T qa9 & TITHT F araw7TT | haar av g?

(@) 10°¢ (b) 20° ¢ (c) 30°¢ (d) 40°c
2. What is the temperature difference between Lahulspiti and Srinagar?

ATgAedHd 3T T T2 & qroHT #§ fohaar sfav 872

(@ 2°¢ (b) 6°c (c) -8°c (d) 8%°¢
3. Temperature at Shimla
formeT ® I 8
(@) -5%c (b) 5°c (c) -6°c (d) 6°c

4. Which is the coldest place?

TaH ST ST i | g2
(@) Lahulspiti  (b) Bangalore (c) Shimla (d) Ooty
(0) ATgAEd G (&) AT CUREREI (&) et

5. What is the temperature if we have taken together the temperatures of Lahulspiti and Shimla?
T2 H ATgAETI < TR F TIIHTT &1 TFH A7 o o T ATTHIT FAT 872

(@) -10°c (b) -3°c (c) -2°c¢ (d) 5°c

CASE STUDY 2

Dinesh went from place A to place B and from there to place C. A is 7.5 km from B and B is 12.7
km from C. Ayub went from place A to place D and from there to place C. D is 9.3 km from A and
Cis 11.8 km from D.

AT MM AT BAR g d C T X ST gl A, BH 7.5 1w B, CH 12.7 ot ¥
S AT DA AT C M X Aargl D, AT 9.3 T gx gl e C, D& 11.8
T T B
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6. Distance travelled by Dinesh to reach C from A

A ¥ C a5 qg= ¥ foru femer grarag fr v
(@) 19.2 km (b) 20.2 km (c) 21.2 km (d) 22.2 km

7. Distance travelled by Ayub to reach C from A

FIT FRT A & C ¥ Tg= & oo qa fr 1w 77
(@) 19.1 km (b) 20.1 km (c) 21.1 km (d) 22.1 km

8.  Who travelled more distance?

Frery arfare T a7 17
(@ Ayub (b) Dinesh (c) Both (d) None of these

9. How much more distance is travelled?

raett e o a7 i 22
(@ 0.7 km (b) 0.8 km (c) 0.9 km (d) 1 km

10. How much distance will be travelled by Dinesh if he would have returned to place A through
place D?

famrer fohaet T @ 0T T2 98 #&9 A 9 #2019 D € I g0 aTIH 3 S[1ar?

(@ 41.1km (b) 41.2 km (c) 41.3 km (d) 41.4 km

CASE STUDY 3

Edappally Junction is an intersection at Edappally of Kochi in the state of Kerala, India. Three
major highways intersect at the junction. Indian National Highway 47, National Highway 66 and
National Highway 47A intersect here. It is one of the busiest junctions in Kerala. The following
figure shows the representation of this highway as a straight-line path from different destinations
pointed as A, B, C and E. AC and BE intersect at P. AC and BC intersect at C, AC and EC
intersect at C.

FAT ST & HIYT A2 H TSTeAT H USOHeo ] ST Ueh AT g T THE TSTHNET ST 92
gfa=sE L 81 AT TR T 47, TET TSR 66 3T TET AT 4707 927 Tfa=ss
FIA gl TG FLA F oy =Teq S|l § F UF g Faferfera st =0 aomm wr u, &, Hr e F
=7 ¥ 2 o sru e a3 v HrefY Y| a0 F w9 F gertar g1 vt i 1S ff 7 v
Fed 21 THY e At Y uw g vt s S = uw afo=se e g
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11.

12.

13.

14.

15.

Name the pair of angles #BCP and ZPCE

HIUTT o IIH AT A0 AT TLA UL ST drTe

(@) Corresponding angles &3T sTT (b) Adjacent angles STT&= 0T
(c) Vertically opposite angles e faa<ia o (d) Linear Pairs ¥f&re siig

Name the pair of angles #/BPA and ZCPE

HIUTT o IO T ATH qATs0 LIHT FR L0

(a) Corresponding angles ST T (b) Adjacent angles STTE &TT
(c) Vertically opposite angles saaa faa<ia T (d) Linear Pairs ¥ STTe

Name the pair of angles #BPC and ZBPA
HIUTT F 90 AT ATH TarsLAd =T sz e

(a) Corresponding angles T T (b) Complementary angles T T
(c) Vertically opposite angles raraa faafia 1ot (d) Linear Pairs & siis

Name the pair of angles #BPC and ZCPE
HIUTT o 90 AT ATH A ULA T T ST /HdTe

(a) Corresponding angles HTa 0T (b) Complementary angles T%& T
(c) Vertically opposite angles @i&raa faadia &1 (d) Supplementary angles ¥ T

Sum of the measures of the angles #BCP and ZECP is

FIOTT T AT T TR LT S L2HTdT 8
(a) 180° (b) 90°
(c) 45° (d) None of these =z7® & Frg Tt
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CASE STUDY 4

BEST PETS FOR KIDS

Owning a pet can be a rewarding experience for a child. A well-chosen pet can bring years of joy. Pet
ownership can also be a chance for kids to learn valuable life lessons as they care for a living creature.
Pets can teach children about responsibility and dependability with adult guidance. As an added bonus,
some pets give affection in return for a child’s loving attention. Use the following bar graph to answer
the following questions.

T ITAq SATHEL T AT gAT U ag o (o0 U [IEhd AqAT 3l ThdTl gl TF =el aig o o1
AT TG Fe AT T Geft AT ThaT g1 ATl SATHal 7 w1 St gl & o7 gegar siam aae
T 7 |7 &7 ThdT § F11oh o T ST ST i SGATA L 8| TTA ST g1l TIEF
AR & 972 e $iw A9war & 9 #§ @ a6 81 U JAfaiTs e & ®9 7, g a1aq
STHEE T % ST 9 &9 % 95 ©g o g | [Hateiad 1 & I & & [0 MHfoiad & era
T TN Fe.,
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of class seven.
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16.  Which is the most popular pet?
TqTH AT AT A AL I G752
(a) Dogs F (b) Cats fareeft (c) Rabbits @@rer  (d) Hamsters 8¥&2T
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17. How many children have dog as a pet?
A STTHAY & &9 7 fha agi & a9 a1 52

(@) 8 (b) 10 () 2 (d) 5

18. How many children have hamsters as a pet?
T STTHAT & &9 § fhde agi % a9 gFaet 82
(@ 8 (b) 10 (c) 2 (d) 5

19. Number of children who are interested in owing both dogs and rabbits as pets
Fl ST @I FA1 [ ITeA I § &= 7@ a1l agi ol G

(@) 8 (b) 10 (€) 12 (d) 14

20. Scale used in this bar graph is 1 unit is equal to
TH I T | <6 THET 1 TH1e 930467 2
(@) 5 pets (b) 2 pets (c) 4 pets (d) 3 pets

CASE STUDY 5

Take (small) line segments of equal length such as matchsticks, tooth pricks or pieces of straws cut into
smaller pieces of equal length. Join them in patterns as shown in the figures given: Observe the pattern
in figure. It consists of repetitions of the shape made from 4 line-segments. As you see for one shape
you need 4 segments, for two shapes 7, for three 10 and so on.

A= T AT, A o0l AT AT A 6 The ST aas ddTs & (1) TATEE o ST FHF @dTs &
BIe el | e | &F AT AR & [ZaTa | I8 U | S(Ie of: apfd | Fed o7 Adveq w41 =98
4 TETEET | FAT AR 0l TAXGIT gt gl STAT o 3T U ST & (o0 3@ 8, AT 4 Gef hf
AFLTFAT 2Tt &, &7 sFfaat & forw 7, 9 3% forw 10 sfiw == a2z

o

p—

)
—

21. The number of sticks required to form 7 shapes
7 ATRFAAT T T F forw s wiEat £ gear
(@) 14 (b) 19 (c) 22 (d) 26
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22. Number of shapes which can be formed using 31 sticks
31 FEAT T ITANT Hieh qATS ST qohel ATAT STHIATT T T

(@) 20 (b) 16 () 14 (d) 10

23. The number of sticks required to form 12 shapes
12 STFAIT FT F9T F T sraers gz fi de
(@ 35 (b) 37 (c) 39 (d) 41

24. Number of shapes which can be formed using 25 sticks
25 ZZAT FT ITTRT Fleh dATE ST Tohel ATAT SATRTAIT T HEAT
(@) 14 (b) 12 ) 10 (d)8

25. The number of sticks required to form n shapes
N ATHAIT FHT TAT F [T AEGeTF STl HE&AT:

@ 2n-1 (b) 2n+1 (c) 3n-2 (d) 3n+1

CASE STUDY 6

The mangoes must be packed in insect-proof boxes. If ventilated boxes are used, all the ventilator
openings of the box should be covered with insect-proof screen and all the sides of box should be
sealed with adhesive tape to prevent any entry of pests. Here is a situation regarding two types of boxes
containing mangoes. Each box of the larger type contains 4 more mangoes than the number of mangoes
contained in 8 boxes of the smaller type. Each larger box contains 100 mangoes.

ATHT FT File-Teq Tl | T T ST AU FfT ZATe a9 T ITANT FohaT STTaT 8, T aie &
Tt ATt ITed Hile-TF Shid & Toh g AU 3T Il o [HEl T TAT H T o (70 99 5
Tsft AT T Rraehe areft o & Hier T 37 ST A0 T8t &1 TR0 6 o H & o g | 98 ThL &
T S # Fie Toh1e o 8 aari § fAfga smat &t weam 7 4 srfers smw 81 s a2 =9 7 100 smw
£l
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26. Number of smaller boxes

IS AT hT HEAT:
(a) 2 (b) 4 (c) 6 (d) 8
27. If the number of mangoes in one smaller box is n, the total number of mangoes in the smaller
boxes
Tf3 U Fre Red | oA it §&47 n 7, AT B o H A7 6T 1 deAT
(@) 6n (b) 7n (c) 8n (d) 9n

28. Number of mangoes in a larger box
e a2 =T # st it "@emn
(a) 108 (b) 100 (c) 104 (d) 110

29. The simple equation representing the above situation, if the number of mangoes in one
smaller box is n

T UF Fie o | A7 i HEAT n g, ST (RATT FT TTAA ST FLed ATAT T THIHI
(@ 6n+6=100 (b) 8n+4=100 (c) 10n+ 8 =100 (d) 8n+6 =100

30. The number of mangoes in one smaller box is
UF FI [Sod | ATHI T HE&AT 8-

(a) 12 (b) 10 (c) 8 (d) 14
CASE STUDY 7
e "9 @
[ I N L]
L] [ ]
e o Al B

A traditional dice is a cube with each of its six faces marked with a different number of dots from one
to six. When thrown or rolled, the die comes to rest showing a random integer from one to six on its
upper surface. Opposite faces of a die always have a total of seven dots on them. Net of a die is given
below.

U I TET =1 gidT & (S8 @8 BeAhl &l UF ° g dah AeT-3TonT fagall & ary =iaa G
TAT BIAT g1 ST qTHT Hehl AT @ AT ST 5, AT A UHT R § FahaT g % el ST Adg 98 U |

e 6 91 | &l QU ar@dr gl 9 & Fadd =98l 9% gHeT o 91 &g 2id g1 TF I8 &7 S
ST e T B

31. Find the number of dots on the face B of the die.
9T % el B I¥ fEge &t ge Aa i)
(a) 3 (b) 1 (c) 5 (d) 6
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32. Find the number of dots on the face C of the die.
ITH o s C I TGl sl §&dT ATd it

(@ 3 (b) 4 (¢) 5 (d) 1
33. Find the number of dots on the face A of the die.

T % e A 9T Tgetl i §eaT A1 il

(@ 3 (b) 4 (€) 5 (d) 1
34. Find the sum of dots on faces A and B.

F® A T B 9% f&g3l &1 07 7q hiforg)

(@) 6 (b) 4 (c) 8 (d) 7

35. What is the sum of dots on opposite faces of a die?

T ITH  Ta9q werent a< f6gel &1 TR 747 872

(a) 6 (b) 4 (c) 8 (d) 7
CASE STUDY 8
long and narrow - - - — - :
o G Ce— R —

)

oral thermometer ‘T
dark line of mercury fluid

short and round

silver tip of i‘F 34 96 98 100 102 _ 104 _ 108 _ 108
rectal thermometer | |

Picture 7 Mercury glass thermometers

There are a wide variety of thermometers available on the market today. Some highly precise
measurements are still done with glass thermometers. Since the properties of fluids, and in particular,
mercury is well known, the only limitation to accuracy and resolution come in the form of how well
you can manufacture a glass tube with a precision bore. Some of the precise measurements are marked
on a number line. The points P, Q, R, S, T, U, A and B are the marking of the measured temperature on

the number line and also TR = RS = SU and AP = PQ = QB.

TS AT | 5 TG o AHTHIST ITAH g1 AATeF Teteh AT TefT ff o1 qoqi{iex & a1 o S

gl =i T TRTAT & O, ST FOT T/, qORT F O A ASET a8 | S| AT 7, TErHar hr
THATS HHT =6 T § A g o6 AT Tk e T 6 QT Uh H S 67 WA hadt sl a8
T THd | TF T AT I Tk H&AT W@l 9T siteha a1 sirar g1f6g €f, 77, o, ve, &, 7, v eiw

Y HEAT T 9% A T TIHE 6 3 8 A< 28T = U = UHY & Tt = 1 = FaT 97 5
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36. Temperature representing the point S

&g S ¥ aTIHH FAasy

(@ -13 (b) -13 (© 12 @ 2
37. Temperature representing the point R

&g R X a1\ aar=y

(@ -12 (b) -13 © 13 @ 3
38. Temperature representing the point P

&g P o2 o Farey

( -—22 (b) -2 (© 23 (@) 25
39. Temperature representing the point Q

&3 Q T I FaET

(@ -22 (b) -2 © 23 () 27
40. Sum of the temperatures at P and R

a3 P 3T R 9% qTOHT &7 I

(@ -2 (b) -1 (c) 2 d 1

SECTION-B

Questions 41 to 48 carry 1 mark each.
Assertion Reason type question

T 41 § 48 TAF & o 1 s w1 8
FTHFAT FHTLT THTL FT TF

DIRECTION: In the following questions, a statement of assertion (A) is followed by a statement of
reason (R). Mark the correct choice as:
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)
(c) Assertion (A) is true but reason (R) is false
(d) Assertion (A) is false but reason (R) is true.

e : Feferfera vt & U 99 F99 (A) F 97 H0T 1 UF F49 (R) 37 7397 81 76t e
T TH w9 H fufeqd w1

() AT FAT (T) 3T FTLT (3X) A g MR (R) ATHFAT it T2T ATEAT B (A)

(1) AT FAT (T) 3T FTLT (ATX) TH g AT H10T (R) ATHFRAT (T) hf Tel ATEAT A5l &
(¥fT) =TaT (7) & & A FT (3A7F) T &

() FTET (T) T & oA HTLT (AR) 7 2
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41. Assertion(A) : —g S

20
25

Reason(R) : By multiplying the numerator and denominator of a rational number by the same
non zero integer, we obtain another rational number equivalent to the given rational
number

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.

afee (m) 1 -2 = 20

5 25

FRON(AR) : TF TRAT T&qT F 9 §R 5T F1 OF &1 A7 qorie @ o7 737 9%, g9 & 78 7RA7

42.

HEIT F TR TF S TRAT F&37 17 5t &

() ST B (1) S FHTOT (ATE) Ted § b (R) AfSror it w81 =7rear € (A)

(&) AT FAT (T) I HTLT () TA & ATRTRTT (R) ATHFRAT (A) T Tt =ATEa1
GEUE

(¥fT) =TAT () T 2 AT F (SAT) T4 &

(3T) TTET (T) TAT & SATRT FHILOT (X)) T 2

Assertion(A) : The sketch provided here fmmmmmmmnn—— //!
is an isometric sketch i
}
’¢
P"

e

Reason(R) : Isometric sketches are sketches in which measurements also agree with those of
the given solid

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.

ATHHAT (T) : g1 T T =6
TF AEAIRGH & &
FI(AR) : FEGIRLF @ 0F @F 517 & 5178 717 47 319 SFHlad & aqa< §ia &
() AT FAT (T) 3T FTLT (3AT) T g MR (R) ATHFAT it ToT ATEAT © (A)
(1) AT FAT (T) 3T FTLT (ATX) A g AT 10T (R) ATHFRAT (A) T Tt ATEAT
SE
(¥FT) FTAT (17) FF & ATHT FTCT () T &
(3T TTET (T) TAT & ATheT HILOT (3AT) T 2
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43. Assertion(A) : (-5) + [(-3) + (<2)] = [(-5) + (-2)] + (-3)
Reason(R) : addition is commutative for integers
(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)
(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false
(d) Assertion (A) is false but reason (R) is true.

AT () 1 (<5) + [(-3) + (-2)] = [(-5) + (-2)] * (-3)
FIRON(NT) © FIS qUiF] & [ #1379 &
() AT AT (T) 3T FHTLOT (AT A g AR (R) SATHHRAT 6T Tl ATEAT § (A)
(&) T FAT (T) ST FT (AT T § ATRARIT (R) SATHFRAT (A) ¥ TET ATRAT
T e
(¥fT) =TaT (7) T & AT FT (31 TT &
(1) AT (T) AT & AThel HTLIT (3T T B

44. Assertion(A) : 0.07 x 1000 = 70.

Reason(R) : when a decimal number is multiplied by 10, 100 or 1000, the digits in the product
are same as in the decimal number but the decimal point in the product is shifted to
the right by as , many of places as there are zeros over one.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.

HTNHAT (T) : 0.09 X fo00 = o/

FIN(AR) : T TF FHTT GCqT 1 0, 00 JT fooo & IUT 37T F7ar §, AT TUTET § A%
FOHTT AT & THIT 519 & ATHT TUTHT § FUHAT 95 F1 A1 1T 775 FT
EATART #2971 5777 § T 0% & T17 T 517 &/

() FIAT FHAT (T) T ATV (L) TA g TR (R) ATHFAT T Tt AT 8 (A)
(&) AT FAT (T) 3T FTLT () A g AT (R) STTHFAT (T) st AT 2ATSAT
SE

(¥fT) =TT () T € ATRT FT () AT €

() FTET (T) AT € ATHA FTT (M) T 2
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45. Assertion(A) : Mode of the given set of numbers: 1,1,2,4,3,2,1,2,2,4is1
Reason(R) : The mode of a set of observations is the observation that occurs most often.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.

AR () : RT 77 Gearei F agg FrAgrw 1, 1,24, 3,2, 1,2, 2,481
W(W):W%Wwwagﬁw?#ma@?mg?ﬂra‘/
() AT FAT (T) 3T FTLT (3AX) A g ALR0T (R) ATHFRAT it Tl ATEAT 2 (A
(&) AT FHAT (T) T HTT (AX) A g ATRTh 1 (R) aﬁ%wﬁﬁm#@%
(¥f1) =TaT () T g AT F (A1) T4 2
(3T) TTET (T) TAT & SATRT FHILOT (3T) T 2

46. Assertion(A) : An angle which is equal to its complement is 45°

Reason(R) : When the sum of the measures of two angles is 180°, the angles are called
supplementary angles.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.

ATNFIT (V) : TF FIT T 397 [XF F TAAE 459 . &

FHTTUT(ATT) : T T HIOM T ATIT T TRT 180° FraAT &, AT FHIVT TITF HI0T FgaATd &l
() AT FAT (T) 3T FTLT (3AT) A g MR (R) ATHFAT it T2 ATEAT B (A)
() FAT FAT (T) T HTIT () TA & ATRART (R) ATHFAT 6T Tt ATEAT A5l o
(¥fT) =TAT () T 2 AHT F (SAT) T4 &
(3T TTET (T) TAT & SATheT HILOT (3AT) T 2

47. Assertion(A) : 4x + 5= 6x — 25 is an equation

Reason(R) : An equation is a condition on a variable. The condition is that two expressions
should have equal value. Note that at least one of the two expression must contain
the variable.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.
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ATNFIT (V) : 4x + 5= 6x - 25 QF GHIFRT &
RIU(AR) © TF FHIFT TF 9% G TF 9 &1 917 I8 & 13 &1 7% 37 77 GHIT §I97 11301
&IT7 & 1 T 79l § & F7 T 77 TF § IRTTT g7 11501
(T) FET FAT (T) 3T FHIL (IAX) TA g AH (R) ATHHAT T Tl AT 5 (A)
(FT) T FHAT (T) S FT () A & ATRARTT (R) SATHFAT T Tt ATSAT A61 ¢
(¥fT) =TAT (T) T T AT F (A7) T4 &
(3T TTET (T) TAT & SATheT HILOT (3TT) T 2

48. Assertion(A) : 2x and 2y are like terms
Reason(R) : Terms which have the same algebraic factors are like terms.

(a) Both assertion (A) and reason (R) are true and reason (R) is the correct explanation of
assertion (A)

(b) Both assertion (A) and reason (R) are true but reason (R) is not the correct
explanation of assertion (A)

(c) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false but reason (R) is true.

ATNHAT (V) : 2x SR 2y GHIT IS &
FRN(AR) : F 95 7% d1519 TGS GHI7 §1d & &, THI7 I3 FTT &1

T) TET HAF (T) ST FILOT (AT) T & A H0T (R) ATHRAT it Tl ATEAT 7 (A
&T) TET FAT (T) ST HILT (AX) T g AT w10 (R) aﬁﬁﬁaﬂaﬁaﬁw:@%
) IMET (T) T g AThA LT (AT T &

) AT (T) AT g AThel T (ATX) T Bl

(
(
(
(=T

SECTION-C
Questions 49 to 60 carry 2 marks each.

T 49 & 60 TF TAF & 2 F 3|

49, Evaluate: [90 — (-54)] +[12 — 3 x (-2)]
FeTFT 72 [90 — (-54)] +[12 — 3 x (-2)]

50. A father in his will gives % of his property each to his son and daughter and rest to his servant
who has been with him for long. What fraction of the property he gave to Servant?

e TOaT STt Tt § sroet qeair § § % T S0 T 3T T A 3T A9 a3 qqh
T ST I AT Tgq [T | LT & 2T gl SA A6 &l G 7 {ohaar sfer fazr?
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51. Following are the margins of victory in the football matches of a league.
T T & Feaia G40 | S(1d 6 q¥ \efered gl
2,2,2,3,3,55,6,6
Find the range, mean, mode and median of this data.

TH ATFST T I, I, TgAF 3T AIEAHT ATT A0

52. Find the value of x in the following figure, if I || m.

o sefa & x &7 |19 A7 i, IS 1 || m.

[ 4 A m
K
e

53. The product of two numbers is 2.0016. If one of them is 0.72, find the other number.
T HEATAT &7 O 2.0016 gl TS ITH & TF 0.72 7, AT TN HE&IT AT ity

54. Find the value of y in the following figure:
Aot spfa & y &1 779 A1 i

55.  Subtract 24xy — 10y — 18x from 30xy + 12y — 14x.
24xy - 10y - 18x &T 30xy + 12y - 14x § & "0

56. Classify the following into monomials, binomial and trinomials.
Aot i1 e, 39E o g # aefiga fifsm)
(i) -6 (i) -5+ x
(iii) 6x2 +5x — 3 (iv) 22+ 2
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57.

58.

59.

60.

61.

62.

Seven times a number is 12 less than thirteen times the same number. Find the number.
U HE&AT T |1 AT, SHT HEAT % d¥g AT & 12 FH gl HEAT AT i 1o

Write the following statements in the form of equations.
afertera waei 7 e & &9 § forfem)

(@) The sum of four times a number and 5 gives a number five times of it.

ToRET ST o AT I S 5 7T A0, 39 T&AT T 974 AT ad7 g

(b) One-fourth of a number is 2 more than 5

U HE&AT T U AT, 59 2 ATaF 8

If three cubes of dimensions 2 cm x 2 cm x 2 cm are placed end to end, what would be the
dimension of the resulting cuboid?

7T 2 ¢t x 2 ¥t x 2 Ty FAwet aver S v A v Ay & gy Ay a9 @ S, v
TTOTTHT ST T SATATH T g2

If the product of two rational numbers is I—:— and one of them is I—:—, find the other number.

aﬁﬁv&ﬁw@&ﬁmw%f-ﬁwﬁﬁw%%,gﬁ@maﬁﬁm

SECTION-D
Questions 61 to 62 carry 4 marks each.
TF 61 & 62 TF TAF & 4 3% g

In a test (+5) marks are given for every correct answer and (-2) marks are given for every
incorrect answer.

U T B T ol I (o0 (+5) 37 U S g 3T T a3 & {70 (-2) 3
& ST 2l
i.  Radhika answered all the questions and scored 30 marks and get 10 correct answers

TTTereRT o Tt Tt F 3 (R ¥ 30 3 9T R S 10 981 39 9w e

ii.  Jayalso answered all the questions and scored (-12) marks though he got 4 correct
answers

ST AT AT FATAT o STATE ] 37 (-12) s -y R, gty 3 4 981 397 A

How many incorrect answers had they attempted?
Srgie fohde ITord IO T AT foRaT 9r?

Take the data giving the minimum and the maximum temperature of various cities. Plot a
double bar graph using the data and answer the following:

faferer ora<l 7 =qFAaH ST ATIFAH TTTHATT < gU ATHS o | AHET FT ITAN Fd g4 TF a9
I ATF a1 i Fwforfa #1397 &

(1) Which city has the largest difference in the minimum and maximum temperature on the
given date?
e orge & 21 T A FT FATH ST ATRAH I § qag T=T AL 872
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(if) Which is the hottest city and which is the coldest city?
T ITH TZT AT AT g 3T T ST Mg Fl A7 82

Temperatures of cities
as on 20.6.2006

Max. Min.
Ahmedabad 38°C 29°C
Amritsar 37°C 26°C
Bangalore 28°C 21°C
Chennai 36°C 27°C
Delhi 38°C 28°C
Jaipur 39°C 29°C
Jammu 41°C 26°C
Mumbai 32°C 27°C
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